WT

Ctail

WT

Ctail

Cells

Cells

AF/Fmin

AF/Fmin

GNRH GnRH ) C
— — AF/Fmin B
16
s 1.0
40
0.8
. 33 =
E 30s
0 20 w
2 £ 04
12 10 02
0 T T 0.0~ T T
" GnRH1 GnRH2 GnRH1 GnRH2
80 100 120 140 160 180 100 120 140 160 180 ’
(RSl AF/Fmin E F
14
1.0
40 * *
1.3 0.8
=30 =
H Fos
12 09 o
2 £ 04
10
a1 0.2 %
0 T T o-“ T T
‘o GnRH1 GnRH2 GnRH1 GnRH2
80 100 120 140 160 180 100 120 140 160 180 '
Time (s) Time (s)
GnRH GnRH
] G
1.2
1.1
1.0
0 50 100 150
] H
1.2
1.1
0 50 100 150 200 250 300 350 400
1.3 I
1.2
1.4 e Sty
1.0
0 50 100 150 200 250 300 350 400
1.3 J
1.2
1'1 A v
1.0 *‘... e Il e L A i e ettt
100 150 200 250 300 350 400
13 K
1.2
11
1.0 ,,,
100 150 250 300 350 400
1.3 L
1.2
1.1
1.0
0 50 100 150 200 250 300 350 400
1.3
1.2
11
10IIII
50 100 150 200 250 300 350 400
Time (s)

Figure 8-figure supplement 1



